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0.40

0.04

0.040

(6) 0.044
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(1)

(2)

(3)

(4)

(5)

(6)

5.0+2.19

1.598+5.66

416—2.3

6.74—5.702

2.00X3.0

1.1X1.6

(7) 0.50x6.0

(8) 1.98+-1.32

(9) 4.0+31

(10) (15X 10%)+(2.15x 10?)

(11)  (6.67 X 10%)+ (1.6 X 10°)

(12)  (1.3X10% X% (1.5%x10")




L2] BEiRIoOAaEF F #H & (48D =R A H /20 28
[1]JES® ROBAMIZIFEELTUTFTOES %, (6) 0.28km  mJ (3) 1.8X10%  [min} (B)JE=@® KROHNICEELT, UTFTOHEE
[ CR SN HE S K, [ RSN BT HBES X,
1m=10%cm=10°mm 1kg=10%g=10mg
1km=103m
(1) 38x10%g kgl
(1) 15%10%m Imj]
(7) 4.2%X10°m  TkmjJ (4) 24h Ts] WA RT3 HTTRD &,
(2) 189 kgl
(2) 0.23m lcmy
[2]05fE1 @ RODOFEF ERAICIEELT, LTO (5) 1.25h Ts] (3) 12kg [gJ
e 2, [ JCRSN-HALICHEY X,
heeeooo R (hour)
(3) 66mm mJ min---4y (minute),
JREREE ) (second)
1h=60min=23.6 X 103
(D) D HAEZhHT 3HTT, EINLINIH I T (4) 0.15kg gl
2K TR X, )
(1) 40min Ts] (6) 7.2%x10% Ihy

(4) 3.0m [mmj]

(5) 3.4%X10%km m]

(2) 0.45min [s]

(7

1WE 2557 sy

(5) 6.7x10°mg  [kgJ

(6) 0.55kg mgJ
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(1)FEHRe KROMEBEIIZ2FHE, [2)EHRDES KOfEE, AT 2HC | 6) V72 (9) 450
(1) 25 iz X, L, RESELT, BFol%
HAWCEEREE X,
V2 =141 V3 =173
J5 =223 J6 =244
J7 =264 J10 =3.16
(2) 481
(1) /8
(6) /98
(3) 121
(10) /490
(2) 12
(4) 144
(1) 175
(5) 196
(3) J20
6) 256 (11) 980
(8) 294
(7) 400 (4) b4
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(M]EDHF O ROGHE TR LA U
EALT, AEF 2L 3MrTENE
R,

BIECE 2 M1 | AR 34T
1.42857142 1.4 1.43
1.67262171 1.7 1.67
1.60217653 1.6 1.60
2.99792458 3.0 3.00

[21iEH DT E® ROEHK D E A2 L,
(1) 10%x104
=10%4=10"

(2) 4X105x2x10%
=8Xx105"4=8Xx10°

(3) 100x10712
— 1010—12: 10—2

10°
10°
=1083=10°

(4)

108
1073
= 1087(73):&11

(5)

16
4x10%°
=4X10"10

(6)

[BIEMHMFLIEHO® ROBIEE, AT
HEE L TOX10" 0 TRE(=0<10),
(1) 400.0

=4.000X 102
(2) 40.00
=4.000X10
(3) 0.40
=4,0X10"1
(4) 0.04
=4X10"2
(5) 0.040
=4,0X10"2
(6) 0.044
=4.4X1072

[4)BIEBEDOEFES® KONEMZ,
HE L CEEE X,
(1) 5.0+2.19
=7.19 7.2

AT

(2) 1.598-+5.66

=7.258 7.26
(3) 4.16—2.3
=1.86 1.9

(4) 6.74—5.702

=1.038 1.04
(5) 2.00x3.0

=6.0
(6) 1.1x1.6

=1.76 1.8

(7) 0.50x6.0
=3.0

(8) 1.98+-1.32
=150

(9) 4.0+31
=1.29 1.3

(10) (15X 10%)+(2.15x 10?)
—3.65 X 102 3.7X10?

(11)  (6.67 X 10%)+ (1.6 X 10°)
=2.267 %103 2.3X10°

(12)  (1.3X10% X (1.5%x10")
=1.95X10%?

2.0X10%
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[1]JES® ROBMIZIFEELTUTOES %,
[ CARS NI BALICHE R K,
Im=102cm=10mm
1km=103m
(1) 15x10%cm [mJ

1.5X10%cm=1.5X103X10 2m
=15m

(2) 0.23m lcmy

0.23m=0.23X10%cm
=23cm

(3) 66mm m)

66mm=66x10"3m
=6.6X10"%m

(4) 3.0m [mmj]

3.0m=3.0X103mm

(5) 3.4%X103%km m]

3.4X10%km=3.4X103X10%m
=3.4X10%m

(6) 0.28km  m]

0.28km=0.28 X 10°m
=2.8X10°m

(7) 4.2X10°m  Tkm]

4.2X10°m=4.2X10%X 10 3km
=42Kkm

(2]E5fE @ ROFLFEHAIZER LT, LTFD
Refi] 2, [ ) O S HALICHUE Y X
heeeee EE (hour)
min---43 (minute),
s+ F (second)
1h=60min=3.6 X 10%
(DD IA T 3 M T, ELIMNIA
2HITRD L, )
(1) 40min Ts]

40min=40X 60s
=2.4X103%

(2) 0.45min Ts]

0.45min=0.45 X 60s
=27s

(3) 1.8%x10%  [min]

1.8X10%=1.8 X 10*X 6_10 min

=3.0X10%min

(4) 24h Ts) SAEBCT 3HTTERD X,

24h=24x3.6 X 10%
=8.64X10%

(5) 1.25h Ts]

1.25h=1.25Xx3.6 X 10%
=4.5X103%

(6) 7.2Xx10% hj

7.2X10%=7.2X10*X

3.6x10°
=20h

(7) 1Hff 254y  Ts)

1X3.6X10%3+25X60s
=5.1X103%

[B]JEE® KROHENIZEEZELT, UTFTOEE
[ ORI LIRS X,
1kg=10%g=10mg
(1) 38x10%g kgl
3.8X103g=23.8 X 10%xX 10 3kg
=3.8kg

(2) 189 kgl

1.8g=1.8X 1073kg

(3) 12kg fgJ

12kg=12 X 10%g

=1.2X10%

(4) 0.15kg TgJ

0.15kg=0.15X10%g

=1.5X10%

(5) 6.7x10°mg kg

6.7 X10°mg=6.7 X 102 X 10~ kg

=6.7X10"%kg

(6) 0.55kg mg]

0.55kg=0.55%X 10°mg
=5.5X10°mg
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(1]FA5Re KROMEEIEEIZ I IBH, [2)FEABRDOFHES® ROMEZ, AT 2HT (5) 72 (9) /450
(1) V25 Bx k., 2FEL, REISLT, UTFoEz —J62x2 =642 =\2x3% x52
=5 AWCEER X, =6Xx1.41=8.46 8.5 =3X5X /2 =15X1.41=21.1 21
J2 =141 J3 =173
V5 =223 V6 =2.44
J7 =264 J10 =3.16
(2) 481
=9 (1)
=\22x2 =22
—2X1.41=282 2.8
(6) /98
(3) 121 =\72x2 =72
=11 —7x1.41=9.87 9.9
(10) /490
=72 %10 = 7410
(2) 12 =7x3.16=22.1 22
(4) 144 =22x3=23
—12 —2X1.73=3.46 35
(1) 175
(5) 19 —52x7 =57
=14 —5X2.64=13.2 13
3) 20
=422 x5 :2\/§
—2X2.23=4.46 4.5
6) /256 (11) /980
=16 =22 x5x7?
=2X7X /6 =14X2.23=31.2 31
(8) /294
(7) 400 (4) 54 —72x6 =76
=20 V32 x6 =36 =7X2.44=17.0 17
—3X2.44=7.32 7.3




